2007 Advanced Coding Theorem Hw3 solution

[ o 0
I 0
_O o
_ o o
_ X
o o
_
o o
_
o o
_
L2
o (e}
o o
o (o]
o o
<
o (o]
o o
o o
o o
o o
o (o]
o o
o o
X
o o
o (e}
o o
o (e}

—_——— e — -

-————
_ o o

o °

o o

o o
- = — —
_Fess===
o ° _
o ° _
o ° _
o ° _

'




0Y(21)(0)(2)(O

O{(O0|1](0]1
S, ®S,=4|1(,|1,|]O0},|0,|1

1({0({0(]0]]|0

0)lo)t1){0){0

A A, Ay A, A,
For table 111

AP +AF+AF+A+A7=8102
For table IV

AP +AF+AF+A+A =8.686
For table V

AP +AF+AF+A+A =6.686
There is no other case better than above

~.table IVisbestfor S, @S,
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